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ferouvsh" fevrw/*enec + o + oush + " F,G,S,P,Act,Ptc

ejnecqevnti fevrw/*enec + qe + nt + i M/N,D,S,Aor,P,Ptc

sarxivn sarcx + — + — + — F,D,P

poivhsan poievw + sa + n + — N/A,N,S,A,Act,Ptc

You know the above is a participle because there is no augment

balovmenai bavllw + o + menh + i F,N,P,A,M,Ptc

proselqovntwn prosevrcomai/*ejleuq o + nt + wn M/N,G,P,A,Act,Ptc

ejpoivhsan poievw + — + — + — 3-P,A,Act,Ind

gravyasin gravfw + sa + (nt) + si M/N,D,P,A,Act,Ptc

khruvssousi khruvssw + o + (nt) + si M/N,D,P,P,Act,Ptc

3-P,Pres,Act,Ind

baptizomevnou baptivzw + o + meno + u M/N,G,S,P,P,Ptc

Theoretically this could also be middle, but baptivzw is only active and passive in the NT.

zw'n zavw + o + (nt) + n M/N,N,S,P,Act,P,Act,Ptc

za + wn ÷ zwn  (The alpha and omega contract). Note: the article, oJ tells you it’s masculine.

pevmyanti pevmpw + sa + nt + i M/N,D,S,A,Act,Ptc

ajposteivlanta ajpostevllw + a + nt + a M,A,S,A,Act,Ptc

The article, tovn tells you it is masculine, accusative.

ejgerqevnti ejgeivrw + qe + nt + i M/N,D,S,A,P,Ptc

Theoretically this could also be middle, but since it refers to a person it must be masculine

lalhqevnto" lalevw + qe + nt + o" N,G,S,A,P,Ptc,

This is neuter because the word it is modifying, rJh'ma, is neuter

ejrcomenh/ ejrcomai + o + menh + i F,D,S,P,M,Ptc

This is a misprint in the workbook. The rho was omitted. Note the dative of time.

gennhvsantav gennavw + sa + nt + a M,A,S,A,Act,Ptc

This must be masculine, not N,N/A, since qeovn is masculine.

ejrcovmenon e[rcomai + o + meno + n M,A,S,P,M,Ptc

This must be masculine, not N,N/A, since  jIhsou'n is masculine.
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aijrwn ai[rw + o + (nt) + n M,N,S,A,Act,Ptc

This must be masculine, not N,N/A, since ajmnov" is masculine. Note also the article, oJ.

kaqhvmeno" kaqhvmai + o + meno + " M,N,S,P,M,Ptc

This must be masculine, not N,N/A, since laov" is masculine. Note also the article, oJ.

qewrw'n qewrevw + o + (nt) + — M,N,S,P,A,Ptc

pevmyantav pevmpw + sa + nt + a M,A,S,A,A,Ptc

pisteuvsa" pisteuvw + sa + (nt) + " M,N,S,A,Act,Ptc

baptisqeiv" baptivzw + qe + (nt) + " M,N,S,A,P,Ptc

peripatw'n peripatevw + o + (nt) + n M,N,S,P,A,Ptc

legovmenon levgw + o + meno + n M,A,S,P,P,Ptc

bavllonta" ballw + o + nt + a" M,A,P,P,A,Ptc
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